Table 2. Subgroup analysis for maternal pre-pregnancy BMI and childhood asthma/wheeze
	Subgroup variables
	Maternal underweight

1.00 (0.91, 1.09), p = 0.919
I2 = 35%, p = 0.13
	Maternal overweight

1.13 (1.07, 1.19), p = 0.000
I2 = 35%, p = 0.10
	Maternal obesity

1.39 (1.23, 1.58), p = 0.000
I2 = 74%, p = 0.00
	Continuous BMI

1.04 (1.03, 1.05), p = 0.000
I2 = 0%, p = 0.61

	Geographic region
	TSD: χ2 = 0.29, p = 0.590
	TSD: χ2 = 0.71, p = 0.399
	TSD: χ2 = 0.34, p = 0.561
	TSD: χ2 = 1.13, p = 0.288

	European countries
	1.01 (0.91, 1.12) (n = 7), p = 0.860; 

I2 = 23.2%, p = 0.252
	1.12 (1.05, 1.19) (n = 8), p = 0.000; 

I2 = 49.1%, p = 0.056
	1.36 (1.17, 1.58) (n = 8), p = 0.000; 

I2 = 81.4%, p = 0.000
	1.04 (1.03, 1.05) (n = 7), p = 0.000; 

I2 = 2.6%, p = 0.405

	Non-European countries
	0.93 (0.71, 1.22) (n = 3), p = 0.610; 

I2 = 66.3%, p = 0.051
	1.18 (1.05, 1.33) (n = 5), p = 0.004; 

I2 = 0%, p = 0.423
	1.49 (1.15, 1.92) (n = 7), p = 0.003; 

I2 = 57.7%, p = 0.028
	1.03 (1.02, 1.05) (n = 3), p = 0.000; 

I2 = 0%, p = 1

	Age of children
	TSD: χ2 = 0.12, p = 0.727
	TSD: χ2 = 11.01, p = 0.001
	TSD: χ2 = 0.29, p = 0.590
	TSD: χ2 = 0.20, p = 0.659

	≤ 5 years
	1.02 (0.92, 1.13) (n = 4), p = 0.761

I2 = 0%, p = 0.443
	1.07 (1.02, 1.12) (n = 6), p = 0.003; 

I2 = 0%, p = 0.671
	1.34 (1.16, 1.54) (n = 8), p = 0.000; 

I2 = 65.5%, p = 0.005
	1.04 (1.02, 1.05) (n = 5), p = 0.000; 

I2 = 0%, p = 0.725

	＞ 5 years
	0.99 (0.86, 1.13) (n = 6), p=0.835

I2 = 54.9%, p = 0.050
	1.20 (1.14, 1.27) (n = 7), p = 0.000; 

I2 = 0%, p = 0.634
	1.43 (1.17, 1.73) (n = 7), p = 0.000; 

I2 = 62.7%, p = 0.013
	1.04 (1.02, 1.06) (n = 5), p = 0.000; 

I2 = 20.7%, p = 0.283

	Ascertainment of BMI
	TSD: χ2 = 0.49, p = 0.484
	TSD: χ2 = 1.52, p = 0.217
	TSD: χ2 = 6.84, p = 0.009
	TSD: χ2 = 0.51, p = 0.476

	Self report
	1.02 (0.90, 1.16) (n = 6), p = 0.765

I2 = 39.8%, p = 0.141
	1.16 (1.07, 1.25) (n = 8), p = 0.000; 

I2 = 46.5%, p = 0.070
	1.61 (1.34, 1.93) (n = 8), p = 0.000; 

I2 = 81.1%, p = 0.000
	1.04 (1.02, 1.05) (n = 7), p = 0.000; 

I2 = 0%, p = 0.514

	Non-self report
	0.94 (0.79, 1.13) (n = 4), p=0.517

I2 = 39.6%, p = 0.174
	1.08 (1.01, 1.16) (n = 5), p = 0.029; 

I2 = 3.6%, p = 0.386
	1.19 (1.05, 1.36) (n = 7), p = 0.006; 

I2 = 29.0%, p = 0.207
	1.04 (1.03, 1.06) (n = 3), p = 0.000; 

I2 = 0%, p = 0.461

	Ascertainment of outcome
	TSD: χ2 = 2.68, p = 0.101
	TSD: χ2 = 1.10, p = 0.295
	TSD: χ2 = 1.72, p = 0.190
	TSD: χ2 = 0.148, p = 0.100

	Self-report
	0.89 (0.74, 1.08) (n = 6), p = 0.229
I2 = 48.9%, p = 0.082
	1.09 (1.02, 1.17) (n = 6), p = 0.016; 

I2 = 0%, p = 0.894
	1.26 (1.07, 1.48) (n = 7), p = 0.007; 

I2 = 40.4%, p = 0.122
	1.04 (1.02, 1.06) (n = 5), p = 0.000; 

I2 = 15.4%, p = 0.316

	Medical records
	1.06 (0.98, 1.15) (n = 4), p=0.180
I2 = 0, p = 0.666
	1.16(1.05, 1.27) (n = 7), p = 0.002; 

I2 = 62.1%, p = 0.015
	1.47 (1.24, 1.74) (n = 8), p = 0.000; 

I2 = 81.4%, p = 0.000
	1.04 (1.02, 1.05) (n = 5), p = 0.000; 

I2 = 0%, p = 0.660

	Type of outcomes
	TSD: χ2 = 1.72, p = 0.190
	TSD: χ2 = 0.46, p = 0.500
	TSD: χ2 = 0.22, p = 0.636
	TSD: χ2 = 0.63, p = 0.426

	Ever asthma/wheeze
	1.04 (0.96, 1.13) (n = 7), p = 0.371; 

I2 = 0%, p = 0.611
	1.16 (1.07, 1.24) (n = 10), p = 0.000; 

I2 = 35.9%, p = 0.121
	1.45 (1.24, 1.70) (n = 12), p = 0.000; 

I2 = 72.5%, p = 0.000
	1.05 (1.02, 1.07) (n = 6), p = 0.000; 

I2 = 38.7%, p = 0.148

	Current asthma/wheeze
	0.93 (0.80, 1.07) (n = 6), p = 0.318; 

I2 = 50.0%, p = 0.075
	1.12 (1.04, 1.20) (n = 6), p = 0.003; 

I2 = 13.5%, p = 0.329
	1.37 (1.15, 1.63) (n = 6), p = 0.000; 

I2 = 64.5%, p = 0.015
	1.04 (1.02, 1.05) (n = 7), p = 0.000; 

I2 = 0%, p = 0.914


BMI, body mass index; TSD, test for subgroup differences.

